= JHdHD T
LIXH2! J101=

T7XIHHE

f af.,

2120
0425

e R
aama 119 8




.78

. A

Ay

MEIIE

EXPII|E



F7IXIFM =

2 af.,

2120
0425

RIS

2tot 8485 1333

O SR

o
(2213103558527 9 gt

T
} snnw A
R 3ol
Hdamea 11988
L LA ! --------- ]
[ o
|2 28 B
—] vizy, yusu e
RN ET-SE
3




2. 14

Adusoio| A2 71248 520 X 300, MI23 300 x 486 7| 222 5t
LA 72I2¥ HIE 1:1.732, HIRE H|E 1:1.618 8510 37| 2510
|2 71s5tCt.

12y
520
CFR{: mm
@0 5517 2 s} i%y x w 7 55 i
5
y4)
o 'Ee
=/ X| g 0
33
« | =fOF 848515335 -
la A .
2
- Aot g el g )
| S/2°IT2}033-5832-7952 g%?ﬁ 0 i
) =0, =
= 300
Nzd
= £H9l: mm
o4 553 35 55 .
i 2
LIFX| M T .
B¢
| 2f
la M Ma p
5

-« 12120 -

0425 | -
Ay i

o0 | 721Zxs} 1 1 9 % o ’
&) Q 20 2(5)

0 5



3. MA|

=2 Mol £E22 “Rix #2114 B"E, x4t ¥ E0i2kE= S 0| Ao

LS 40| HojLt “FHUX"E AL BT,

RIX Eq'gﬂ‘;! 3

= JLICHCHORBEAE

ol

St A

2 Xt 012356789

abcdefghijkl

=% ABCDEFGHIJK



4, Muat

BA|To| HiE2 AlQl€o] =2 kit

|22 sirt,

T EE

0.387

0.610 0.369

0.546

0.512

0.421

0.557

0.442

0.900
0.800
0.700
0.600
0.500
0.400
0.300 .
90

0.200

0.100

0.000
0.000

520

470 -
4()() *ONn
0.100 0.200

0.300

0.400 0.500

0.600

600

‘1)2()

0.700

700

0.800

w DAH|IRHI|R(CIE) BAMA




5. AIE

FIA|AHTI2 SIFMABZFA(KS)E T 2mm LT 0| 5T ZE 0|4 24
O =2 |25t BIARZ| &= OfZto]| 2 B £ Qe E N3 2| UAIAE BE
T2 (KSA3507)0| 42 A2 5t7{LI 2 HE 2| 510 Of SiCL,
3§, ALS 20 $AI0|LE 93 21 S 0|2510] LT Sl MEEICY,
st OlHFZ Z A| E
AE L= Aeasd
4El HEAFA|E(KS A 3507)
A O
HEAl ¢S0|sT
o M
(KS A 5052)
UVZIEH A E(KSTHZ)
olg i
o £u1913 MAF 23(KSTHE)
i UVAIEH A|E(KSTH2)

HIAFA|E(KS A 3507)
eS0T

(KS A 5052)



AYHSTE B2t HBO 2 Cjfot AP S| AMFE, QRIES| &8 U J|E
= AYHDT LEWtR|2] £0|S 1.5M o]
o

Ef
O2 5111, 4 50m/s Of| = AE & UEF Q1) A4S n2{5to| da|gtict,

o =9 73 A &
EEE T2X300%48

| l_ =% [2%300%48 A5052 2
Hsg |1z T2X520%300

2 e T2X132X80 A6061 1

3 BOLT BNZ 10%25 STS304 6

1 SES D60.5X1800 KS D 3566 or 3503 1

5 EERE 400x300%600 1

o 300,

600

R20 520 ¥
e
Ve
o = 0
I= o oé) <0
o o 1
L
EN
R15 R1D R1& \Rw
k N
o EZQ\_ = o EZE\L =
8— D 60 5X3.0 (KS D3566 or 3503) 8 D 60 5X3.0 (KS D 3566 or 3503)
- —
F.L F.L
o
o
P =
o
3 o S
<
% <
NE
= - 400X800X600 S ax
~ 1% 23Y=(R2) ~ 400X800%600
l J J J JE 23RS
200, 400 200 00, 400 /200
800 800

=2y M=



